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Goal: given an answer stream I ′ at t ′ < t and the input
change from t ′ to t, compute I at t!

Idea: “Truth Maintanance Systems” + Temporal Aspect

I I ⇔ TMS-like structure M
I Label: (in/out/unknown, {[t1, t2], . . . , [tn−1, tn]})

Algorithm AnswerUpdate(t,D,M)

I Update time labels of atoms with unchanged status

I Only re-evaluate the status of atoms affected by change
in the input
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Time adjustment

I Body window atoms with unchanged status and updated
time labels ⇒ update head’s time labels
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I Founded (in)valid rules ⇒ set head’s status

I Unfounded (in)valid rules ⇒ assign head & unknown
body’s status

Loop through strata
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Ongoing Implementation

I Simple evaluation for general LARS formulas

I Stream stratification recognition

I Initial comparison between generic evaluation and
stratified evaluation

I More to come . . .



Conclusions


